Chapter 2 Review Worksheet vame: __ LE \I

A delivery service charges a base price for an overnight delivery of a package plus an extra charge for each
ound the package weighs. A customer is billed $22.85 for shipping a 3-pound package and ;SﬂO for shipping a

I,Q;P\?}‘\n,fi package.

1. Identify what you have been given (1 point, 2 points, slope, y-int.). List them below.
Z points. (3,2z2.85) (10, yo)

2. Write an equation in slope-intercept form that gives the total cost of shipping a package as a

function of the weight of the package. g0 = 7 4 S(X ) ‘0) $7.4 51 O
_ 40-2285 1148 :
M= == - L_T = Y245/ v N-40 = 745¢-74 50 per pound
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3. Find the cost of shipping a 15-pound package.

N 7.95(15) +15.50

For a school band fundraiser, students are selling seat cushions for $4 each and licenses plate holders
for S}g\each. One student raises $304.

4. Write an equation in standard form of the line that models the possible combinations of seat cushions and
license plate holders that the student sold. C= % of seat cushi NS sold

\UYC, v op - 3()“?\ 7 M of PAOK NoVders soly

5. If the student sold 19 seat cushions, how many license plate holders must they have sold?

401%) + op =304 op = 2

0 vop -3y p {38 gleR NS ]

6. Write an equation of a line in slope-intercept form that is perpendicular to 2x + 7y = 14

and passes through (—4,—1). ‘[\{-_-Zx + 14
M=% NN ) V= Fx 12
Y41® 7 xt4)
N4 ~ 5% + 1

W‘- Tx + \3\

7. Identify the domain and range of the gréph. CTT T AT T
Does the graph represent a function? Explain how you know. 1A

|
===y
1

-

o VL1 9) ek -4é xey NARiL S

v-[-3,3] or -3¢tye3 EES
ner & funcnon, NUHal Line TeSt

—
—

Scanned by CamScanner



8. Without graphing, compare the graph of y = — % |x + 9| — 5 to the graph of y = |x]|.
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A cable company charges $44 per month for basic service. Each premium channel costs an additional $16 per
month. i e

—

9. Write an equation in slope-intercept form that gives the total cost (in dollars) of cable each month as a
function of the number of premium channels purchased.

10. Identify the dependent and independent variables in this situation.
) nopindant - 8 of Yrémam  cnennels \vurdm&f(k
() Depyident: ook of (Oble Servids

11. Find the cost of cable service for a month in which you purchase 4 premium channels.
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During the period 1990-2004, the annual sales of a small company increased by the same amount each year. In
1997, the annual sales were $97,000. By 2002, sales had increased to $147,000.
———— — AL~ P —

12. Write a linear equation in slope-intercept form that models the annual sales as a function of the number of

years since 1990. (7, 97,000 (\Z, V1 000) N - 47,000 ~ 10,000 (x -7)

_ 141,000 - 97,000 50,000 -07,000 = \Q,000x -0, ¢ue
- \Z2 -1 © T - b\U‘UUb[\ﬁr 1

Y
13. Use the model to predict the sales in 2016. @
N - \0,000(20) + 77,004
- |%2%1,000 |

A BMX race track charges a one time membership fee and an entrance fee per race. One racer paid a total of
$76 after 3 races. Another racer paid a total of % after 7 racegs.

14. Write an equation in slope-intercept form that gives the total cost, C, as a function of the number or races

entered, 7. (31 70) (T, WA 1 \'-'ﬂo - \Z(Y"g)
" -7 % - -
m - \7._:_}_3 . qu s12/ra N-6 = 12x -3l
15. What is the entry fee per race? ( C- ;12 rs L‘/(,L\
16. How much does the track membership cost? o
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